
 

TUBE MOUNT 
ADJUSTABLE FOR 

1” - 2” DIAMETER TUBING 

 Mount your Hi-Lift® jack to round or 

square tube bumpers, bull bars, roll cages, 

and roof  racks. 

 

 Manufactured of  6061-T6 structural alumi-

num with stainless steel hardware.  No 

drilling! 



 

TUBE MOUNT 
ADJUSTABLE FOR 

1” - 2” DIAMETER TUBING 

Hi-Lift Jack Company 
P.O. Box 228 
Bloomfield, IN 47424 
Toll Free (800) 233-2051 
Direct (812) 384-4441 
www.hi-lift.com 

 

 

 

UPC CODE 

Part #TM-700 

EACH UNIT INCLUDES: 
     2 ea. Aluminum Brackets 
     2 ea. Aluminum Knobs 
     2 ea. Long “V” Bolts 
     2 ea. Short “V” Bolts 
     4 ea. 5/16” Hex Nuts 
     4 ea. 5/16” Flat Washers 
     4 ea. 5/16” Lock Washers 
     2 ea. 1/2” Lock Washers 

   (Secure Brackets as shown)             (Secure Hi-Lift as shown) 

 
     

INSTALLATION INSTRUCTIONS 
 

Use Short “V” Bolts for 1” - 1-1/2” Tubing 
Applications 

 
Use Long “V” Bolts for 1-1/2” - 2” Tubing 

Applications 

Secure “V”” Bolts to Aluminum Brackets with 
5/16” Flat Washer, then 5/16” Lock Washer, 

and 5/16” Hex Nut. 
 

Fully tighten hardware once the Tube Mount 
locations are adjusted correctly. 

Place Hi-Lift jack on Tube Mount  

Assembly with Tube Mount Bolts 

through holes on the Steel Jack Bar.  

Secure tightly with 1/2” Lock Washer 

and Aluminum Knob.    


